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Aufgaben-Quickname: 7271

Aufgabe 1

Kiirze durch den angegebenen Wert.

a) 1§ dwrch 2 = § b) £ durch 2 =1

d) % durch 4 = %

Aufgabe 2

Kiirze durch den angegebenen Wert.

a) %g durch 6 = % b) % durch 3 = %

d) %1 durch 2 = % e) % durch 4 = %

g) 19 durch 2 =2 h) 19 durch 2 = §

j) 1g durch 7 = %

Aufgabe 3

Kiirze durch den angegebenen Wert.

a) % durch 5 = % b) % durch 5 = %

d) % durch 5 = % e) % durch 2 = %
3. 1 15 2

f) 36 durch 3 ) g) 33 durch 3 = 11

h) 2 durch 3 =& )2 durch2 =3

j) é—g durch 5 = %

Aufgabe 4

Kiirze durch den angegebenen Wert.

a) % durch 4 = % b) % durch 3 = %

d) {5 durch 3 = § ¢) 15 durch 3 = 3

g) 1 durch 5 =3 h) 55 durch 3 = 7%
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c) % durch 3 = %
c) % durch 5 = %
) O durch 6 =1
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i) 75 durch 2. = o5

Viel Erfolg!
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